Annexure - A

MODIFIED ANSWER KEY OF WITH RESPECT RECOMMENDATION OF EXPERT COMMITTEE ON LICE JAO40% HELD ON 17-

07-2016 - PAPER-1

AT section_icorrect_ans; MODIFIED AT section_co icorrect_ans; modified REMARKS
- code wer ANSWER - de wer answers
1 1 3 51 1 4
2 1 4 52 1 4
3 1 4 53 1 3
4 1 1 54 1 1
5 1 1 55 1 1
6 1 3 56 1 3
7 1 3 57 1 2
8 1 3 58 1 3
9 1 1 59 1 3
10 1 2 60 1 2
11 1 1 61 2 3
12 1 1 62 2 1
13 1 1 63 2 1
14 1 1 64 2 4
15 1 4 65 2 2
16 1 1 66 2 3
17 1 2 67 2 1
18 1 3 68 2 3
19 1 4 69 2 3
20 1 2 70 2 2
21 1 1 71 2 4
22 1 1 72 2 1 2 REVISED
23 1 3 73 2 3
24 1 1 74 2 2
25 1 1 75 2 3
26 1 3 76 2 4
27 1 3 77 2 3
28 1 4 78 2 3
29 1 1 79 2 3
30 1 1 80 2 2 2,4 IGNORE*
31 1 1 81 2 2
32 1 4 82 2 4
33 1 3 83 2 2
34 1 1 84 2 4 NONE
FULL MARKS TO BE AWARDED
35 1 1 85 2 3
36 1 3 86 2 2
37 1 2 87 2 2
38 1 1 88 2 4
39 1 3 89 2 2
40 1 4 90 2 3
41 1 1 91 2 3
42 1 1 92 2 4
43 1 4 93 2 1
44 1 4 94 2 1
45 1 1 95 2 1
46 1 4 96 2 4
47 1 1 97 2 1
48 1 4 98 2 2
49 1 2 99 2 4
50 1 3 100 2 2 1,3 IGNORE*




MODIFIED ANSWER KEY OF WITH RESPECT RECOMMENDATION OF EXPERT COMMITTEE ON LICE JAO40% HELD ON 17-
07-2016 - PAPER-II

section_icorrect_ans; MODIFIED section_co :correct_ans MODIFIED
S-N0S: - ode wer ANSWER REMARKS RS de wer ANSWER REMARKS
1 1 1 51 2 3
2 1 3 52 2 4
3 1 1 53 2 1
4 1 4 54 2 4
5 1 2 55 2 2
6 1 1 56 2 1 1,2 IGNORE*
7 1 2 57 2 1
8 1 2 58 2 2
9 1 4 59 2 1
10 1 1 60 2 3
11 1 2 61 2 3
12 1 3 62 2 2
13 1 1 63 2 2
14 1 1 64 2 1
15 1 3 65 2 1
16 1 3 66 2 1
17 1 4 67 2 2
18 1 1 68 2 4
19 1 2 69 2 2
20 1 1 70 2 1
21 1 2 71 2 2
22 1 3 72 2 3
23 1 4 73 2 3
24 1 1 74 2 4
25 1 2 75 2 2
26 1 3 76 2 2
FULL MARKS TO BE
27 1 3 4 REVISED 77 2 2 NONE
AWARDED
28 1 1 78 2 4
29 1 2 79 2 4
30 1 2 3 REVISED 80 2
FULL MARKS TO BE
31 1 4 NONE 81 2 1
AWARDED

32 1 1 82 2 1
33 1 1 83 2 2
34 1 2 84 2 4
35 1 2 85 2 4
36 1 3 86 2 1

AMBIGUOU: FyLL MARKS TO BE
37 1 4 s 87 2 4

QUESTION AWARDED
38 1 2 88 2 3
39 1 3 89 2 1
40 1 1 AMBISGUOU FULL MARKS TO BE 90 2 2 3 REVISED

QUESTION AWARDED
41 1 3 91 2 3
42 1 1 92 2 4
43 1 4 93 2 2
44 1 1 94 2 2
45 1 1 95 2 2
46 1 3 96 2 3
47 1 3 97 2 2
48 1 1 98 2 1
49 1 4 99 2 2
50 1 2 100 2 1

* FOR EXAMPLE, IF THERE ARE 100 QUESTIONS, EACH OF ONE MARK IN A PAPER AND "N" NOS. OF
QUESTIONS ARE IGNORED, THEN NET SCORE OF THE CANDIDATES WHO HAVE SECURED "X" MARKS IN
THAT PAPER, WILL BE CALCULATED AS {X /(100-N)*100}




